DERIVATION OF A FORMULA FOR $\sum r^k x^r$

N. Gauthier

Royal Military College of Canada, Kingston, Ontario K7K 5LO, Canada (Submitted September 1987)

1. Introduction

Many different approaches have been proposed to evaluate the sums of powers of consecutive integers,

 $\sum_{r=0}^{n} r^{k}.$

Interest in these sums is very old: the Greeks, the Hindus, and the Arabs had rules for the first few cases. Modern interest in these sums goes back more than 350 years to Faulhaber's (1631) "Academia algebrae." Fermat (1636), Pascal (1654), Bernoulli (1713), Jacobi (1834), and many others have also considered this question. Recent contributions are due to Sullivan [1], Edwards [2], Scott [3], and Khan [4]. Sullivan uses a simple and elegant recursion formula to study this problem. Edwards and Scott make use of a matrix formulation which is very intimately connected to Pascal's triangle and the binomial theorem. Khan introduces a simple integral approach that can be presented in all generality with just a basic knowledge of calculus. The interested reader will find a textbook account in Jordan [5], for example.

The purpose of the present note is to study sums of the type

 $\sum_{r=0}^{n} r^{k} x^{r},$

where $n, k \ge 0$ are integers and x is an arbitrary parameter (real or complex). The sums of powers of consecutive integers can be obtained from our results, as a special case, by letting $x \to 1$. But since the latter sums (x = 1) have been studied extensively in the literature, the main emphasis of the present note will be on the former sums ($x \neq 1$).

2. A Method for Evaluating $\sum r^k x^r$

In this section, we present a calculus-based method for evaluating $\sum r^k x^r$. To our knowledge, this approach has not been discussed before. An alternative approach is to use Sullivan's technique [1] by setting $\alpha_r = x^r$, instead of $\alpha_r = 1$, in his expressions. However, after examination, it was found that this approach is not analytically as transparent as the present approach; thus, the details are not reported here.

Let $x \neq 1$ be an arbitrary real or complex parameter, and note the following identity,

$$\sum_{r=0}^{n} x^{r} = (1 - x^{n+1})/(1 - x).$$

(1)

[Nov.

By k successive applications of the differential operator D = xd/dx to both sides of (1), we immediately obtain

$$\sum_{r=0}^{n} r^{k} x^{r} = D^{k} (1 - x^{n+1}) / (1 - x).$$
⁽²⁾

For k = 0, (2) is to give back (1) and so we adopt the convention that $r^0 = 1$ for all r, including the case r = 0. The above formula provides a compact analytic expression for the desired sums.

By observing that k applications of D on the right-hand side of (2) produces a result with a common denominator of $(1-x)^{k+1}$, we define a set of polynomials of degree n + k + 1, $Q_{n+1}(x; k)$; thus:

$$\sum_{0}^{n} r^{k} x^{r} = Q_{n+1}(x; k) / (1 - x)^{k+1}, \qquad (3)$$

with

$$Q_{n+1}(x; 0) \equiv 1 - x^{n+1}, \tag{4}$$

from (2) and (1). From this point on, the summation index will be r, unless otherwise specified. A recursion formula in k is obtained by noting that

$$\sum_{0}^{n} r^{k+1} x^{r} = D \sum_{0}^{n} r^{k} x^{r}.$$
(5)

Identifying each side of (5) with a Q-polynomial as given in (3) we get

$$Q_{n+1}(x; k+1) = x[(1-x)Q_{n+1}'(x; k) + (k+1)Q_{n+1}(x; k)]$$
(6)

for k integer ≥ 1 ; $Q_{n+1}(x; 0)$ is defined by (4), and a prime denotes differentiation with respect to x.

The first few Q-polynomials are:

$$Q_{n+1}(x; 1) = x - (n + 1)x^{n+1} + nx^{n+2};$$

$$Q_{n+1}(x; 2) = x + x^2 - (n + 1)^2x^{n+1} + (2n^2 + 2n - 1)x^{n+2} - n^2x^{n+3};$$

$$Q_{n+1}(x; 3) = x + 4x^2 + x^3 - (n + 1)^3x^{n+1} + (3n^3 + 6n^2 - 4)x^{n+2} - (3n^3 + 3n^2 - 3n + 1)x^{n+3} + n^3x^{n+4}.$$
(7)

3. General Properties of $\sum r^k x^r$

An inspection of (7) suggests that the Q-polynomials may be written as x^n times a polynomial of degree k in n, plus a term which is n-independent. Consequently, this property also holds for $\sum r^k x^r$, by (3). To see this more clearly, rewrite (2) as follows:

$$\sum_{0}^{n} r^{k} x^{r} = D^{k} \frac{x^{n+1}}{x-1} - D^{k} \frac{1}{x-1}.$$
(8)

The first term on the right-hand side generates x^n times a polynomial of degree k in n and the second term generates a term which is independent of n. As a result, in an effort to display the *n*-dependence of the right-hand side as explicitly as possible, we rewrite (8) in the form

$$\sum_{0}^{n} r^{k} x^{r} = x^{n} P_{k}(x; n) + R_{k}(x), \qquad (9)$$

where

$$P_{k}(x; n) = \sum_{r=0}^{k} a_{r}^{(k)}(x) n^{r}$$
(10)

1989]

is a polynomial of degree k in n, with coefficients $a_{p}^{(k)}$ which depend on x. The term R is independent of n and so, by setting n = 0 in (9), we find that $R_{k} = -a_{0}^{(k)}$, except when k = 0. Indeed, because of our earlier convention that p^{0} be equal to 1 for all $p \ge 0$, the case k = 0 has to be handled differently. From (2), with k = 0, we find that

$$R_0(x) = -1/(x-1)$$
 and $a_0^{(0)}(x) = x/(x-1)$.

Finally, with this restriction in mind, we rewrite (9) in the form

$$\sum_{0}^{n} r^{k} x^{r} = x^{n} \sum_{r=0}^{k} \alpha_{r}^{(k)}(x) n^{r} - \alpha_{0}^{(k)}(x)$$
(11)

and establish rules to obtain the coefficients $a_r^{(k)}$. To obtain these coefficients, we will use two different methods: A) a method of recursion on k; and B) a method of recursion on n.

A) <u>k-Recursive Method</u>: This method consists in assuming that the $\alpha_r^{(k)}$'s are known for some k. Then, by using (5), the next set of coefficients, $\alpha_r^{(k+1)}$, is determined. By (5) and (9)-(11), we get

$${}^{n} \mathcal{P}_{k+1}(x; n) - \alpha_{0}^{(k+1)} = \mathcal{D}[x^{n} \mathcal{P}_{k}(x; n) - \alpha_{0}^{(k)}].$$
(12)

To reduce this expression, perform the derivative and get

$$x^{n}[P_{k+1}(x; n) - nP_{k}(x; n) - DP_{k}(x; n)] = a_{0}^{(k+1)}(x) - Da_{0}^{(k)}(x).$$
(13)

The right-hand side of (13) is independent of n but the left-hand side has a factor which grows exponentially with n. Consequently, for (13) to hold for all values of n, with x fixed but arbitrary, we must have

$$a_0^{(k+1)} = Da_0^{(k)}, \tag{14}$$

$$P_{k+1} = nP_k + DP_k .$$
 (15)

To reduce (15) further, define

$$a_{k+1}^{(k)} \equiv 0, \quad a_{-1}^{(k)} \equiv 0,$$

and use (10) to get

 x^{i}

$$\sum_{0}^{k+1} \left[a_{r}^{(k+1)}(x) - a_{r-1}^{(k)}(x) - Da_{r}^{(k)}(x) \right] n^{r} = 0.$$
(17)

In order for this expression to hold for all n, with x fixed but arbitrary, we must have

$$a_r^{(k+1)} = a_{r-1}^{(k)} + Da_r^{(k)}.$$
(18)

Because of (16), the case r = 0 is consistent with (14) above; similarly, for r = k + 1, we get

$$a_{k+1}^{(k+1)} = a_k^{(k)}, \tag{19}$$

and so we conclude, from (3), that

$$a_k^{(k)}(x) = x/(x-1)$$
⁽²⁰⁾

for all k, including k = 0. One significant drawback of this k-recursive approach is that all previous sums must be known in order to determine the k^{th} one. Fortunately, however, using method B, it is possible to determine the k^{th} sum independently from the others.

[Nov.

(16)

DERIVATION OF A FORMULA FOR $\sum r^{\,k}x^{\,r}$

B) Induction on n: By induction on n, (10) and (11) give

$$\sum_{0}^{n+1} r^{k} x^{r} = x^{n+1} P_{k}(x; n+1) - \alpha_{0}^{(k)}(x)$$
(21)

or, equivalently,

$$(n+1)^{k}x^{n+1} = x^{n+1}P_{k}(x; n+1) - x^{n}P_{k}(x; n).$$
(22)

With (10), this gives

$$x(n+1)^{k} = x \sum_{0}^{k} a_{r}^{(k)}(n+1)^{r} - \sum_{0}^{k} a_{r}^{(k)}n^{r}.$$
(23)

To simplify the notation in what follows, we will write a_r for $a_r^{(k)}$ because the upper index k is kept fixed.

Using the binomial expansion, (23) becomes

$$x\sum_{j=0}^{k}a_{j}\sum_{r=0}^{j}\binom{j}{r}n^{r} - \sum_{j=0}^{k}a_{j}n^{j} = x\sum_{j=0}^{k}\binom{k}{j}n^{j}.$$
(24)

For this equation to hold for all n, we must have equality of the coefficients of like powers of n on both sides; hence,

$$a_k = x/(x-1),$$
 (25)

as observed previously, and

$$a_{r} = \frac{x}{x-1} \left[\binom{k}{r} - \sum_{j=r+1}^{k} \binom{j}{r} a_{j} \right], \qquad (26)$$

for $0 \leq r \leq k$ - 1. We give here the first few a_r 's, for arbitrary $k; \; a_k$ is given by (25), and

$$a_{k-1} = -kx/(x - 1)^{2},$$

$$a_{k-2} = k(k - 1)x(x + 1)/2(x - 1)^{3},$$

$$a_{k-3} = -k(k - 1)(k - 2)x(x^{2} + 4x + 1)/6(x - 1)^{4}.$$
(27)

Others are determined readily using (26).

To conclude this section, we extend (2) to negative values of n. To do so, first note that the right-hand side of (2) is well defined for all values of n, with k an integer ≥ 0 . For n = -1, the right-hand member of (2) is zero, so we adopt the convention that

$$\sum_{0}^{-1} r^{k} x^{r} = 0 \text{ for all } x \neq 1 \text{ or } 0.$$

For *n* an integer ≥ 2 , we let

$$\sum_{0}^{n} r^{k} x^{r} \equiv D^{k} (x^{-n+1} - 1) / (x - 1) = -D^{k} \left(\frac{1}{x^{n-1}} - 1 \right) / \left(x \left(\frac{1}{x} - 1 \right) \right)$$
(28)
$$= -D^{k} \sum_{1}^{n-1} x^{-r},$$

i.e.,

$$\sum_{0}^{n} r^{k} x^{r} \equiv -\sum_{1}^{n-1} (-r)^{k} x^{-r}, \qquad (29)$$

with $\sum_{1}^{0} \equiv 0$ on the right-hand side.

405

1989]

Now set n = -1 in (11) to obtain

$$x^{-1}\sum_{0}^{k} a_{r}^{(k)} \cdot (-1)^{r} - a_{0}^{(k)} = 0, \qquad (30)$$

i.e.,

$$(x - 1)a_0^{(k)} = \sum_{1}^{k} (-1)^r a_r^{(k)} \text{ for all } x \neq 1.$$
(31)

This interesting property can be observed in the special cases that follow.

4. Interesting Special Cases

In this section, results for $\bar{k} = 1$, 2, 3, 4, and 5 are presented. To begin with, we let x = 2 and find the following sums:

$$\sum_{0}^{n} r \cdot 2^{r} = 2[2^{n}(n-1) + 1];$$

$$\sum_{0}^{n} r^{2} \cdot 2^{r} = 2[2^{n}(n^{2} - 2n + 3) - 3];$$

$$\sum_{0}^{n} r^{3} \cdot 2^{r} = 2[2^{n}(n^{3} - 3n^{2} + 9n - 13) + 13];$$

$$\sum_{0}^{n} r^{4} \cdot 2^{r} = 2[2^{n}(n^{4} - 4n^{3} + 18n^{2} - 52n - 75) + 75];$$

$$\sum_{0}^{n} r^{5} \cdot 2^{r} = 2[2^{n}(n^{5} - 5n^{4} + 30n^{3} - 130n^{2} + 375n - 541) + 541].$$
(32)

There is an interesting regularity in the coefficients of n in the parentheses; for example, the absolute value of the coefficient of n^0 is equal to the sum of the absolute values of the coefficients of all the higher-order terms.

The second sum in (32) belongs to a class of sums where the summand $r^k x^r$ is symmetric under the interchange of r and k: $r^k \cdot k^r$. Such sums have an intrinsic appeal and we give a few examples below:

$$\sum_{0}^{n} r^{2} \cdot 2^{r} = \frac{2}{1^{2}} [2^{n} (n^{2} - 2n + 3) - 3];$$

$$\sum_{0}^{n} r^{3} \cdot 3^{r} = \frac{3}{2^{3}} [3^{n} (4n^{3} - 6n^{2} + 12n - 11) + 11];$$

$$\sum_{0}^{n} r^{4} \cdot 4^{r} = \frac{4}{3^{4}} [4^{n} (27n^{4} - 36n^{3} + 90n^{2} - 132n + 95) - 95].$$
(33)

The case $\sum_{0}^{n} r^{1} \cdot 1^{r}$ has to be handled differently because (1) does not hold for x = 1; we shall discuss this type of situation in C) below. Other interesting results are now given in A)-C).

A) For x = -1:

$$\sum_{0}^{n} (-1)^{r} r = \frac{1}{4} [(-1)^{n} (2n + 1) - 1];$$

[Nov.

DERIVATION OF A FORMULA FOR $\sum r^k x^r$

$$\sum_{0}^{n} (-1)^{r} r^{2} = \frac{1}{2} [(-1)^{n} (n^{2} + n)] = (-1)^{n} \sum_{0}^{n} r;$$

$$\sum_{0}^{n} (-1)^{r} r^{3} = \frac{1}{8} [(-1)^{n} (4n^{3} + 6n^{2} - 1) + 1].$$
(34)

B) For x = i imaginary, we get, for example,

$$\sum_{0}^{n} i^{r} r^{2} = \frac{1}{2} [i^{n} (n^{2} + 2n + i(1 - n^{2})) - i].$$
(35)

If the real and imaginary terms are gathered separately, for n even, two identities are obtained. The identity for the real terms gives back the second equation of (34) and that for the imaginary terms gives the new identity,

$$\sum_{0}^{n/2-1} (-1)^r (2r+1)^2 = [(-1)^{n/2} (1-n^2) - 1].$$
(36)

C) For x = 1: In order to obtain the sums of powers of consecutive integers, take the limit $x \rightarrow 1$ in (3) and get

$$\sum_{0}^{n} r^{k} = \lim_{x \to 1} \frac{Q_{k+1}(x; k)}{(1-x)^{k+1}} = \frac{(-1)^{k+1}}{(k+1)!} \lim_{x \to 1} \frac{d^{k+1}}{dx^{k+1}} Q_{n+1}(x; k)$$
(37)

after k + 1 applications of l'Hôpital's rule. For k = 0, 1, 2, 3, equations (7) give, respectively:

$$\lim_{x \to 1} \frac{d}{dx} Q_{n+1}(x; 0) = -(n+1);$$

$$\lim_{x \to 1} \frac{d^2}{dx^2} Q_{n+1}(x; 1) = n(n+1);$$

$$\lim_{x \to 1} \frac{d^3}{dx^3} Q_{n+1}(x; 2) = -n(n+1)(2n+1);$$

$$\lim_{x \to 1} \frac{d^4}{dx^4} Q_{n+1}(x; 3) = 6n^2(n+1)^2.$$
(38)

Insertion of these results in (37) gives the expected results for the appropriate sums. The present technique is, however, somewhat cumbersome to handle. Indeed, k derivatives are first required to find $Q_{n+1}(x; k)$ followed by k + 1additional ones in order to compute the limit. Cases with x = 1 can be handled easily with Khan's technique or by the method of induction on n presented earlier. Indeed, by observing, from (8), that

$$\lim_{x \to 1} D^k (x^{n+1} - 1) / (x - 1)$$

is a polynomial of degree k + 1 in n, we may write

$$\sum_{0}^{n} r^{k} = \sum_{0}^{k+1} \alpha_{r}^{(k)} n^{r} - \alpha_{0}$$
(39)

and proceed as before.

1989]

Acknowledgment

The author is greatly indebted to J. R. Gosselin for his interest in this work and for many stimulating discussions.

References

- 1. D. Sullivan. "The Sums of Powers of Integers." Math. Gazette 71 (1987): 144-146.
- 2. A. W. F. Edwards. "A Quick Route to the Sums of Powers." Amer. Math. Monthly 93 (1986):451-455.
- 3. S. H. Scott. "Sums of Powers of Natural Numbers: (1) By Coefficient Operation..." Math. Gazette 64 (1980):231-238. Followed by: J. B. Wilker. "Sums of Powers of Natural Numbers: (2) By Efficient Cooperation." Math. Gazette 64 (1980):239-244.
- 4. R. A. Khan. "A Simple Derivation of a Formula for $\sum_{k=1}^{n} k^{r}$." Fibonacci Quarterly 19.2 (1981):177-180.
- 5. C. Jordan. Calculus of Finite Differences, 2nd ed. New York: Chelsea, 1950.

Announcement

FOURTH INTERNATIONAL CONFERENCE ON FIBONACCI NUMBERS AND THEIR APPLICATIONS

Monday through Friday, July 30-August 3, 1990 Department of Mathematics and Computer Science

Wake Forest University

Winston-Salem, North Carolina 27109

International Committee

Horadam, A.F. (Australia), Co-Chairman
Philippou, A.N. (Cyprus), Co-Chairman
Ando, S. (Japan)
Bergum, G. (U.S.A.)
Johnson, M. (U.S.A.)
Kiss, P. (Hungary)
Filipponi, Piero (Italy)
Campbell, Colin (Scotland)
Turner, John C. (New Zealand)

Local Committee Fred T. Howard, Co-Chairman Marcellus E. Waddill, Co-Chairman Elmer K. Hayashi Theresa Vaughan Deborah Harrell

CALL FOR PAPERS

The FOURTH INTERNATIONAL CONFERENCE ON FIBONACCI NUMBERS AND THEIR AP-PLICATIONS will take place at Wake Forest University, Winston-Salem, N.C., from July 30 to August 3, 1990. This Conference is sponsored jointly by the Fibonacci Association and Wake Forest University.

Papers on all branches of mathematics and science related to the Fibonacci numbers as well as recurrences and their generalizations are welcome. Abstracts are to be submitted by March 15, 1990, while manuscripts are due by May 1, 1990. Abstracts and manuscripts should be sent in duplicate following the guidelines for submission of articles found on the inside front cover of any recent issue of *The Fibonacci Quarterly* to:

Professor Gerald E. Bergum *The Fibonacci Quarterly* Department of Computer Science South Dakota State University P.O. Box 2201 Brookings, South Dakota 57007-0194

[Nov.